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1.

Modern education is —
(A) Child Centric

(B) Teacher Centric
(C) School Centric

(D) Curriculum Centric
ey ER gl 2 —
(A) fis =fas
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Choose the correct answer.

Each question carries 2 Marks.

Who has written book “The Emile”?

(A) Pestalozzi
(B) Froebel

(C) Rousseau

(D) Gandhiji
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2. ‘ofifer 3% & ferratae ¢

(A) (BT

(B) =T

(C) =eC=l

(D) sirifer

3. The propounder of SOI model of intelligence is —

(A) Spearman

(B) Thorndike

(C) Stern

(D) Guilford

©. i@ SOI IMCCEH UTEF ZeT —
(A) FrREsnE
(B) 2 foizs
(C) Bl
(D) oG
4. According to Spearman the number of ‘g’ factor is —
(A) One
(B) Two
(C) Three
(D) Four
8. AR qCo Jfad ‘g TAMIT FRA 2o —
(A) @@=
(B) T
(C) Teo

(D) 7
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5. The word ‘Personality’ has come from the Greek word —
(A) Personal
(B) Persona
(C) Parsona
(D) Pursona
€. A ‘Personality’ *f GCZ NS *FF —
(A) Personal (2qCF
(B) Persona (CF
(C) Parsona (UCF
(D) Pursona (¢
6. The concept of integral education was given by —
(A) Aurobindo
(B) Froebel
(C) Rousseau
(D) Gandhiji
v, Integral Education @3 &7l fcafcs= —
(A) Aurobindo
(B) Froebel
(C) Rousseau
(D) Gandhiji
7. The word ‘Currere’ means —
(A) To run
(B) To go
(C) To give up

(D) To move
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‘Currere’ *#oq o1 T'&7 —

(A) Gl

(B) w@ficx e
(C) Afregial ==
(D) ZHreEs =
Fear is an —
(A) Emotion
(B) Interest
(C) Attention
(D) Intelligence
©F 2 GIFLIT —
(A) oTFe

(B) wierr

(C) ST

(D) Ifx

Who has given the two factor theory of intelligence ?
(A) Thorndike

(B) Spearman

(C) Guilford

(D) Watson

Jfed -G ©rga Al (e —

(A) Thorndike

(B) Spearman

(C) Guilford

(D) Watson
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10. How many dimensions are there in Guilford SOI model of intelligence ?
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11.
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(A) One
(B) Two
(C) Three

(D) Four

TSRTCRITER SOI e (@ FMo AQF T AR 2

(A) &=
(B) 7%
(C) fem

(D) v

According to Allport, there are  personality traits.

(A) One

(B) Two

(C) Three

(D) Four

AT 0O TG traits @F AL TF —

(A) &5

(B)

(C) fem

(D) ©l%

Who is the father of Behaviourism ?
(A) Stern

(B) Thorndike

(C) Gestalt

(D) Watson
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15.

YIS el (F ¢

(A) Stern

(B) Thorndike

(C) Gestalt

(D) Watson

What is the full form of RIBT ?
(A) Rorsa Ink Blot Testing

(B) Rorschach Ink Blot Test
(C) Rorschach Intelligence Test
(D) Rorschach Ink Bold Test
RIBT @7 9[(dl ol §t 2

(A) Rorsa Ink Blot Testing

(B) Rorschach Ink Blot Test
(C) Rorschach Intelligence Test
(D) Rorschach Ink Bold Test

Which of the following is a personality trait ?

(A) Intelligence
(B) Interest
(C) Honesty
(D) Emotion

fsfefe @t TfEreg A —

A) Ifa

(B) 9z
(C) ool
(D) @rwe

Who is considered the father of intelligence test ?

(A) Spearman
(B) Alford Binnet
(C) Wechsler
(D) Thurstone

(6)
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se. Jad SR G 0T @0 T 2
(A) FrREsnE
(B) SIeTCIG et
(C) eI
(D) RITBI
16. Who propagated the word ‘Cultural Lag’ ?
(A) Auguste Comte
(B) Max Webber
(C) Ogburn
(D) Taylor
Sv, “‘Cultural Lag’ =03 SBRS (F ?
(A) Auguste Comte
(B) Max Webber
(C) Ogburn
(D) Taylor
17. Who is the father of Educational Sociology ?
(A) Auguste Comte
(B) Max Webber
(C) Ogburn
(D) Payne
4. Educational Sociology €< @« (¢ ?
(A) Auguste Comte
(B) Max Webber
(C) Ogburn

(D) Payne
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Social change depends on —
(A) Education

(B) Technology

(C) Economy

(D) All of the above

ANEP sAf7ew feq s —
(A) !

(B) =&

(C) wiifs

(D) Ttz waeferd

‘Grant-in-Aid’ was recommended in —
(A) Wood Despatch

(B) Hunter Commission

(C) Sadler Commission

(D) None of the above

el L N 2riRe —

(A) TT (©A76

(B) 2RI FHM

(C) TEa S

(D) @4bE =

The concept of Rural University was recommended by —
(A) Wood Despatch

(B) Hunter Commission

(C) Sadler Commission

(D) Radhakrishnan Commission
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0. &l fefwpieTcam seiifeml ai 2rifee —

(A) TE (TA75
(B) 2B S
(C) TEa S
(D) PRI Fhri
21. “The destiny of India is now being shaped in her classroom” — was said by —
(A) Kothari Commission
(B) Hunter Commission

(C) Sadler Commission
(D) Radhakrishnan Commission
3. “SRTST el O A e 7mr — e —
(A) IR e
(B) 2B S
(C) ICsTI Fhpi
(D) RIS Fh0ie
22. Which was the first education commission in India after independence ?
(A) Kothari Commission
(B) Wood Despatch
(C) Sadler Commission
(D) Radhakrishnan Commission
23, A Secy s K S (@b
(A) IO R
(B) TT (TANG
(C) IEsTI Fhpi
(D) RIS Fhri
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Sadler commission is known as —
(A) Calcutta University Commission
(B) Wood Despatch

(C) Hunter Commission

(D) Radhakrishnan Commission

TG I 5 e @ifafoe —

(A) ool fmifmper Shme

(B) TT (THAG

(C) 2T FfM

(D) FIIFI 0l

10+2+3 structure of education was proposed by —
(A) Calcutta University Commission

(B) Kothari Commission

(C) Sadler Commission

(D) Radhakrishnan Commission

So+3+o A FIGI AV FET —

(A) Forel RERwiers Frome

(B) IO S0l

(C) DTN FfEpefer

(D) AIFelel FHI

Mudaliar Commission was appointed in —
(A) 1986

(B) 1953

(C) 1952

(D) 1948
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3¢, iferE Fhme e 23 —

(A) Sovy
(B) s»e@9
(C) S»eR

(D) >s8v
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Paper Code : I1 - B
(Marks : 100)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Module - I
. Answer any one question from the following : 15%1=15
(a) Define Curriculum. What are the characteristics of modern curriculum ? 5+10

(b) What are the characteristics of child centric education? “Modern education is child
centric education” — Discuss. 8+7

. Answer any two questions from the following : 5x2=10
(a) Write the differences between modern curriculum and traditional curriculum.
(b) State the importance of national integration in India.
(c) Discuss the characteristics of Tagore’s educational philosophy.
(d) What are the needs of discipline in school?
Module - II
. Answer any one question from the following : 15%1=15

(a) Define Culture. Discuss the role of education in transmission and preservation of
culture. 5+10

(b) What are the main factors of social change? Mention the role of education in social
change. 8+7

. Answer any two questions from the following : 5%2=10
(a) What are the characteristics of culture?

(b) How is culture related with education?

(c) Write a note on cultural transmission in India.

(d) What is Cultural Lag?

Module - III
. Answer any one question from the following : 15%1=15
(a) What is Memory? What are the different causes of forgetting? 3+12

(b) Discuss Guilford’s ‘SOI’ model of intelligence with its educational implications.
10+5
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. Answer any two questions from the following : 5x2=10
(a) What are the differences between ‘g’ and ‘s’ factors of intelligence?
(b) Write a note on standardized non-verbal intelligence test.
(c) What are the characteristics of verbal intelligence test?
(d) Write a note on trait theory of personality development.
Module - IV
. Answer any one question from the following : 15%1=15

(a) What were the major recommendations of Hunter Commission in pre-independent

India? 15
(b) Explain the major recommendations of Sadler Commission? 15
. Answer any two questions from the following : 5x2=10

(a) What is ‘Grant-in-Aid’ system?
(b) Write a note on Rural University.
(c) What is Operation Blackboard?

(d) Discuss the seven streams of secondary education curriculum as suggested by
Mudaliar Commission.
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